

YMCA CAPE COD MAKO SWIM TEAM PAYMENT FORMS 2013-2014 SEASON

Please use the attached forms when making Mako Swim Team Program payments. You can also find forms on the website –

http://ymcacapecod.org/programs/swimming/mako-swim-team/. The Activity Fee is a separate payment in the amount of \$90.00. The Activity Fee covers all the extra events that we hold throughout the Short Course and Long Course seasons.

Wave Pool Party Pasta Dinners Mako Banquet Summer Fun Picnic T-shirts and Caps Ribbons and awards

Team T-shirts/caps will be handed out at the Blue & White Intra-squad swim meet.

Financial aid is available to those in need. Please submit a confidential request to the Head Coach.

Please include forms below with your payments. First payment forms must be signed by the Head Coach to be accepted. REGISTRATION BEGINS August 19, 2013

1st payment is due 9/16/2013

2nd payment is due 11/01/2013

PLEASE MAKE CHECKS PAYABLE TO: YMCA CAPE COD

Swim Group	Each Pmt x 2	Total Fee	
Novice Group	\$322.50 x 2	\$ 645.00	
Age Group	\$352.50 x 2	\$705.00	
Junior	\$391.50 x 2	\$ 783.00	
Senior	\$451.50 x 2	\$ 903.00	
National	\$520.50 x 2	\$ 1,041.00	



Coach's Signature:

unless signed by the Head Coach.

YMCA CAPE COD MAKO SWIM TEAM PAYMENT FORM 1 2013-2014 SEASON

SWIMMER NAME				
(Check the box next	to your child's	s group)		
□ Novice Group		Amount due	\$322.50	
□ Age Group		Amount due	\$352.50	
☐ Junior Group		Amount due	\$391.50	
□ Senior Group		Amount due	\$451.50	
□ National Group		Amount due	\$520.50	
Date paid	Cash	Check # Credit	: Card	

Registration for the short course season begins August 20, 2012. Forms may be emailed to Ben at bvandyk@ymcacapecod.org for signature and may be picked up in your swimmer's folder for payment.

Please note that registrations may not be processed nor will payment be accepted

Sibling discount of \$10.00 per season may be deducted for each sibling registering after but not including the first child.

Swimmers must be current YMCA members and they must keep their membership valid throughout the season. Past payment requirements must be up to date to register for the new season.

The first payment for the short course season must be made at season registration. A second payment invoice will be sent in October. First payments received after September 30th will automatically incur a \$30.00 late charge.



YMCA CAPE COD MAKO SWIM TEAM PAYMENT FORM 2 2013-2014 SEASON

SWIMMER NAME					
(Check the box next to your child's group)					
□ Novice Group		Amount due	\$322.50		
□ Age Group		Amount due	\$352.50		
☐ Junior Group		Amount due	\$391.50		
□ Senior Group		Amount due	\$451.50		
□ National Group		Amount due	\$520.50		
Date paid	Cash	Check #	Credit Card		

Second payments due on November 1st. Payments received after November 8th will automatically incur a \$30.00 late charge



YMCA CAPE COD MAKO SWIM TEAM PAYMENT FORM – ACTIVITY FEE 2013-2014 SEASON

\$90 ACTIVITY FEE
This fee applies to all swimmers and must be paid at registration.

SWIMMER NAME
DATE PAID
CASH
CHECK #
CREDIT CARD